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QUESTION 1

An Inbound exception class called /Inbound/VIan10 is created using a VIAN ID as criteria to identifytraffic in the

matching rule. Which result occurs?

A. All traffic marked with the VIAN ID is classified by the exception class

B. An error occurs; classes that use VIAN IDs as criteria cannot be set as exception classes
C. All traffic marked with the VIAN ID is assigned a new priority level

D. Nothing occurs; PacketShaper does not intercept VIAN traffic

Correct Answer: D

QUESTION 2

What does the "setup reset cleat” command enforce, that the "setup reset all* command does NOT?
A. It dears all files on the "/public" folder, ME data, and RAD1US/IACACS* information

B. It restores measurement data files to the measurement directory

C. It discards the current configuration and resumes operation using the loaded configuration files
D. It sets the appliance\\'s management IP address to 10.10.10.1

Correct Answer: A

QUESTION 3

Which class will automatically be at the highest point n the traffic tree?
A. The Default bucket

B. TCP Discovered_PoH_123

C. Any class with an IP address

D. HTTP which was auto-discovered

Correct Answer: C
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QUESTION 4

Two classes need to be created; a Citrix class that matches traffic by client name, an HTTP class that matches traffic by
user-agent had URL. Which command helps determine the matching rules?

A. class criteria

B. traffic history

C. class capture-IDs
D. traffic flow

Correct Answer: D

QUESTION 5

Which PacketShaper report displays the percentage of bytes that are NOT retransmits?
A. The TCP Health graph

B. The Network Efficiency graph

C. The Normalized Network Delay graph

D. The Top 10 Classes graph

Correct Answer: B

Explanation: https://originsymwisedownload.symantec.com/resources/webguides/packetguide/11.10/Content/PDFs/
AdaptiveResponse.pdf

QUESTION 6

What are the two (2) main functions o( the Symantec PacketShaper? (Select two)
A. Control of network traffic

B. Next generation firewall

C. Network traffic visibility

D. Increased bandwidth

E. Secure transparent proxy

Correct Answer: AC

250-440 VCE Dumps | 250-440 Exam Questions | 250-440 Braindumps 3/6


https://www.passapply.com/250-440.html
https://www.passapply.com/250-440.html
https://www.passapply.com/250-440.html

VCE & PDF https://www.passapply.com/250-440.html
2024 Latest passapply 250-440 PDF and VCE dumps Download

PassApply.com

QUESTION 7

Which scenario would the "burstable al priority" attribute be used in?

A. To enable a traffic class to access unused bandwidth at Priority 3 or above

B. When a limit is specified that is less than the policy\\'s guaranteed rate

C. When a limit is specified that is greater than the policy\\'s guaranteed rate

D. To enable a traffic class to access unused bandwidth at a specified priority level

Correct Answer: B

QUESTION 8
Which option best describes the concept of "Round Trip" as defined in the Monitor Response Time window?

A. The percentage of transactions completed within the total delay threshold when a client and server exchange of S/N
and ACK packets

B. The average time in milliseconds from the sending of a client\\'s SYN packet, to the return of the server\\'s ACK
packet

C. A network delay or server delay threshold that has been set via the command-line interface
D. The average time in milliseconds certain transactions use, categorized as total, network, and server delays

Correct Answer: C

QUESTION 9

When would the traffic class Inbound/HTTP inherit its policy from another class?
A. When Inbound/HTTP has an ignore policy applied

B. When Inbound/HTTP has a rate policy applied

C. When Inbound/HTTP has a priority policy applied

D. When Inbound/HTTP does not have a policy applied

Correct Answer: D

QUESTION 10
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What is required on the network to allow classification of traffic flow by a specific user?

A. Install the Blue Coat Authentication and Authorization Agent (BCAAA) on a separate server.

B. Nothing. Users are automatically discovered by your PacketShaper.

C. Enable Users and Groups on the PacketShaper Setup page.

D. Install the Blue Coat Authentication and Authorization Agent (BCAAA) on your PacketShaper appliance.

Correct Answer: A

QUESTION 11

Which CLI command will display the current rate and connection information about active hosts?
A. hostdb hosts

B. hostdb accounting

C. hostdb info

D. hostdb show

Correct Answer: B

QUESTION 12

What does "network delay" mean within PacketShaper?

A. The time lot the Oracle server to access memory

B. The increase in average transaction

C. The total transit time for a single packet to traverse the PacketShaper interfaces
D. The total transit time for all requited packets

Correct Answer: D

QUESTION 13
Why would an administrator configure the failover feature in PacketShaper Guided Setup?

A. To enforce policies to react to a new link speed when the primary WAN link fails
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B. To configure advanced system settings, such as Packet Engine, auto discovery, and dynamic partitions
C. To configure PacketShaper for use with WCCP when the primary WAN link fails
D. To schedule commands to execute at a specific time or on a recurring basis

Correct Answer: B

QUESTION 14

Which element is missing from this class lest statement? # class test outbound 10.0.0.200:21 10.0.12.100:2000
A. Partition

B. Policy

C. Protocol

D. Traffic class

Correct Answer: A

QUESTION 15

Which three (3) criteria are to be specified in a matching rule? (Select three)
A. Service group

B. Diffserv marking

C. Traffic type

D.SSLURLP

E. Interface

F. VLAN identification

Correct Answer: ABC
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